Gigan (2, 1, -1) a2u (-1, 3, 4) #iell vAR aAdl Vel AHdAd X — 2y + Yz = 104 doi AHddei wils2el
Ana.

HIRL % Mi%lA WMdd ax + by + cz = d 9.

“n=1{a b ¢ WA
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oAMAd, Ad a3y -l yem A,
ax - cosa by - cosa
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CosSO

.'.ax+byiztanoc-«{a2+b2:0

+ zsina =20




4
3. f6ig (2, 3, -8) 2l 3uu 5 = 6 = 3 URell cdictuie Andl da wNdl Gigel dowicaz Andl.

- g oY 12

2 6 3

cx-4 y-0 z-1
2 6 -3

nx=-2k+4,y=6k z=-3k+1

=k "3,

A(2,3,-8)

5,

L(4-2), 64 1-34)

Wil & [Bg A uiell 2o udl detwie L4 - 24, 63, 1 — 33) 9.
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={2-2% 61L-3,9-3)
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